2R

XINGCHEN

BHSESDATZRSI(®12~D100)

W S R~HE(ZEX)

@ SDAT, SDATSE!

W ESRTH*
SDAT S - 20 X 30 Lo 10 B
(otrmz ) (wars ) (me) (F®m) (5m) (F3) ﬂm
SDAT:E3) S: MiHE =A: AF miT
BUER A R B: S sl
NEE S
Wi 5%

@ FRITMEIR H20mm, 1T321430mm, TI22R10mmPiA, FERFFR AN FEANER
SUERRHSE, HEMNITEASY: SDATS-20X30X10-B.

Q&iTMEI £ A63mm, {Ti214356mm, 1Ti22R10mm, FHHA, FEFFEAXFEANE

NEMERBHSE, HEWHOITHASH: SDAT-63X35X10-N.

W &S

SDAT

A+(1TIE1 X 2+17182)
Co+({T#81 x2+{7122)

B1

SDATS

©12- 016 v !C1+(ﬁi§1+1ﬂiz) 147881
! — 3
& @ —————— ©1-@----O- g« 2
O £
{ e Aoy
2%\,&5 Ll IN1] 4 i
_JFl|& \3-0
D
A+(ITIRIX2+T122) s
M| N2 N1 N2 30 N1
®20~ ®100 _\\r
P — S
= ;JzL[a; @ -- -0 @ —— &
!
e i~ |zt
@ @ | [Pa P4_|
| P3|
2-P2 _Fle
C1+(1712147122) C1+{7ig1
B Co+({T121x2+{71%2) ] SRS
i e i B1 D E F G K1 i M N1 i o
AR\FS A co c1 A co c1 S=5 S8>6 | S=5 | 8>56
12 39 34 17 59 54 27 5 2 6 4 1 M3X0.5 10.2 3 6.3 5 75
16 425 37 185 | 62.5 57 285 | 55 = 6 4 15 M3X0.5 1 3 78 5.5 8
20 445 39 195 | 64.5 59 295 | 55 16 8 4 15 M4 X0.7 13 3 75 55 9
25 48 42 21 68 62 31 6 42 10 4 2 M5 X 0.8 17 3 8 55 9.2
32 56 49 | 245 76 69 345 7 50 12 4 3 M6 X 1 22 3 9 6.5 9 9
40 59 52 26 79 72 36 7 58.5 12 4 3 M8 X 1.25 28 3 10 7.5 95
50 65 56 28 85 76 38 9 715 | 15 5 4 M10X 1.5 38 3 | 105 8 10.5 8 10.5
63 73 64 32 93 84 42 9 845 | 15 5 4 M10X 1.5 40 3 | 118 9.5 1 9.5 12
80 93 82 41 113 102 51 11 104 18 6 5 M14X1.5 45 4 145 1.5 14.5 115 14.5
100 114 | 102 51 134 | 122 61 12 124 | 20 7 5 M18X 1.5 55 4 | 205 16 | 20.5 16 20.5
ARFS [o] P1 P2 P3 P4 R s 33t] T2 \% w X Y
i M5x%0.8 ¢6.55FM5 X 0.887L: 0 4.2 - 12 | 45 : 25 | 162 | 23 6 5 = -
16 M5X 0.8 ¢ 6.5 M5 X 0.88FL: 0 4.2 = 12 | 45 = 29 | 198 | 28 6 5 & =
20 M5X0.8 Wih: ¢6.5FM5X0.8BF: 4.2 Wif: ¢6.58HFL:95.2 14 | 45 2 34 24 z 8 6 | 13| 10
25 M5x0.8 Wih: ¢8.2FM6X1.0BFL: $4.6 Wih: ¢8.2iFFL: 06.2 15 5.5 2 40 28 = 10 8 12 10
32 PT1/8 Wih: 8.2FM6X1.0EFL: $4.6 Wit: ¢8.2iHFL: 06.2 16 5.5 6 44 34 - 12 10 | 183 | 15
40 PT1/8 Wih: ¢ 10FM8X1.251EFL: ¢ 6.5 Wit: ¢ 10iEFL: 8.2 20 75 | 65 52 40 - 16 14 | 213 | 16
50 PT1/4 Wih: ¢ 1MFM8X1.25&7:96.5 Wifi: ¢ 11iB7L: 985 25 8.5 9.5 62 48 - 20 17 30 20
63 PT1/4 Witl: & 11FM8X 1.257L: $6.5 Wih: o 1i@Fl:¢8.5 25 | 85 | 95 75 60 s 20 17 | 287 | 20
80 PT3/8 Wih: ¢ 14FM12x1.75i@F: $9.2 Wif: ¢ 14i@FL: 9 12.3 25 | 105 10 94 74 - 25 22 36 26
100 PT3/8 Wih: ©17.5FM14x2iEF.: ¢ 11.3 Wih: ¢17.5@FL: ¢ 14.2 30 13 10 14 90 - 32 27 35 26

XINGCHEN PNEUMATI( 020



